Calculus Unit 1
Lesson #35a
The Velocity Function

Class Worksheet 5a




A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5¢ + 30t + 35. 4 h (meters)
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A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5¢ + 30t + 35. 4 h (meters)

Our goal is to find a function for the 20
velocity of the ball after t seconds.
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A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

h = f(t) = -5t + 30t + 35.

Our goal is to find a function for the
velocity of the ball after t seconds.

Let P(t, f(t)) represent any point
on the graph of h = 1(t).
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A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

h = f(t) = -5t + 30t + 35.

Our goal is to find a function for the
velocity of the ball after t seconds.

Let P(t, f(t)) represent any point
on the graph of h = 1(t).
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A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

h = f(t) = -5¢2 + 30t + 35.
Our goal is to find a function for the

velocity of the ball after t seconds.

Let P(t, f(t)) represent any point
on the graph of h = 1(t).

Let Q(t + At, f(t + At)) represent any
other point on the graph of h = {(t).
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A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

h = f(t) = -5¢2 + 30t + 35.
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A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
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A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5¢ + 30t + 35. 4 h (meters)

|
Our goal is to find a function for the 20
velocity of the ball after t seconds.

80 <0
Let P(t, f(t)) represent any point /
on the graph of h = 1(t).

Let Q(t + At, f(t + At)) represent any
other point on the graph of h = {(t).
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A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5¢ + 30t + 35. 4 h (meters)
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Our goal is to find a function for the 20
velocity of the ball after t seconds.
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A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5¢ + 30t + 35. 4 h (meters)

Our goal is to find a function for the 20
velocity of the ball after t seconds.
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A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5¢ + 30t + 35. 4 h (meters)

Our goal is to find a function for the 20
velocity of the ball after t seconds.

T~ Q
Let P(t, f(t)) represent any point /
on the graph of h = 1(t).

Let Q(t + At, f(t + At)) represent any
other point on the graph of h = {(t).
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In meters, above the ground after t seconds is given by the function
h = f(t) = -5¢ + 30t + 35. 4 h (meters)

Our goal is to find a function for the 20
velocity of the ball after t seconds.

T~ Q
Let P(t, f(t)) represent any point / \N\
on the graph of h = 1(t).

Let Q(t + At, f(t + At)) represent any
other point on the graph of h = {(t).

\<..g
-~

S~ |
e

We will represent the slope of line PQ. \\
_ (e + At) —1(t)
Vo™ T e AL
Line d is the line that is tangent to the 20 \
graph at point P. I \
\
< \. >
0 1fl2131l4Lls5Lle6l7138]
v t t+At t (seconds)



A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

h = f(t) = -5¢ + 30t + 35. 4 h (meters)
Our goal is to find a function for the 0 d/ﬁ
velocity of the ball after t seconds. 80 // —~Q
Let P(t, f(t)) represent any point I / N\
on the graph of h = 1(t). | PJ/
Let Q(t + At, f(t + At)) represent any ¢ \
other point on the graph of h = (t). 507?3/ \
We will represent the slope of line PQ. i& \\
|
_ f(t+ At) —1(t) | \
Vive = X 30 At \
Line d is the line that is tangent to the 20 \
graph at point P. I \
\
< s
0 1fl2131l4Lls5Lle6l7138]
v t t+At t (seconds)



A steel ball is propelled upward in such a way that its height, h,

In meters, above the ground after t seconds is given by the function
4 h (meters)

h = f(t) = -5t + 30t + 35.

Our goal is to find a function for the
velocity of the ball after t seconds.

Let P(t, f(t)) represent any point

on the graph of h = 1(t).

Let Q(t + At, f(t + At)) represent any
other point on the graph of h = {(t).

We will represent the slope of line PQ.
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A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

h = f(t) = -5¢ + 30t + 35. 4 h (meters)
|
Our goal is to find a function for the 20 d/71
velocity of the ball after t seconds. 80 // —~Q
Let P(t, f(t)) represent any point I / N\
on the graph of h = 1(t). | PJ/
Let Q(t + At, f(t + At)) represent any 6|0 \
other point on the graph of h = f(t). 507?3/ \
We will represent the slope of line PQ. i& \\
|
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Line d is the line that is tangent to the 20 \
graph at point P. The slope of line d I \
is the velocity of the ball at time t. \\
Now imagine moving point Q closer to <y 2T 3TallsT el 1 s >
point P along the curve. M t t+AL t (seconds)
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In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.

V =£'(t) =-10t + 30

2. Fill out the table below.

t f(t) £'(t)
seconds meters meters per second
0 35
1 60
2 75
3 80
4 75
5 60
6 35
7 0

3. Graph function f below.
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.

V =£'(t) =-10t + 30

2. Fill out the table below.

t f(t) £'(t)
seconds meters meters per second
0 35
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2 75
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5 60
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3. Graph function f below.
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.

V =£'(t) =-10t + 30

2. Fill out the table below.
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A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.

V =£'(t) =-10t + 30
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.

V =£'(t) =-10t + 30
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.

V =£'(t) =-10t + 30

2. Fill out the table below.
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.

V =£'(t) =-10t + 30

2. Fill out the table below.
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.

V =£'(t) =-10t + 30

2. Fill out the table below.

t f(t)

seconds meters

t'(t)

meters per second

0 35
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Calculus Class Worksheet #5a Unit 1

A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

h = f(t) = -5t*> + 30t + 35.
1. Express the velocity of the ball as a function of t.

V =£'(t) =-10t + 30

2. Fill out the table below.

t f(t)

seconds meters

t'(t)

meters per second

0 35

60

75

80

75

60

35
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0

3. Graph function f below.
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.
V=1'(t)=-10t + 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) Ah (meters)
seconds meters meters per second %
0 35 %0
1 60 70 —
2 75 60 X
3 80 5":7/ \
40 -
4 75 o X
5 60 20 \
6 35 10 ‘\
<€ >
7 0 M l1l21l3L4lsle6l71s
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.
V=1'(t)=-10t + 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) Ah (meters)
seconds meters meters per second %
0 35 %0
1 60 70 —
2 75 60 X
3 80 5":7/ \
40 -
4 75 o X
5 60 20 \
6 35 10 ‘\
<€ >
7 0 M l1l21l3L4lsle6l71s
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A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

Calculus Class Worksheet #5a Unit 1

h = f(t) = -5t + 30t + 35.
1. Express the velocity of the ball as a function of t.
V=1'(t)=-10t + 30
2. Fill out the table below.

t

seconds

f(t)

meters

t'(t)

meters per second

—}0

35

1

60

75

80

75

60

35
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0

3. Graph function f below.
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A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

Calculus Class Worksheet #5a Unit 1

h = f(t) = -5t + 30t + 35.
1. Express the velocity of the ball as a function of t.
V=1'(t)=-10t + 30
2. Fill out the table below.

t

seconds

f(t)

meters

t'(t)

meters per second

—}0

35

30

1

60

75

80

75

60

35

N[N R W( N

0

3. Graph function f below.
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A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

Calculus Class Worksheet #5a Unit 1

h = f(t) = -5t + 30t + 35.
1. Express the velocity of the ball as a function of t.

V =£'(t) =-10t + 30

2. Fill out the table below.

t

seconds

f(t)

meters

t'(t)

meters per second

0

35

30

60

75

80

75

60

35

N[N [N AW -

0

3. Graph function f below.
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Calculus Class Worksheet #5a Unit 1

A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

h = f(t) = -5t + 30t + 35.
1. Express the velocity of the ball as a function of t.

V =£'(t) =-10t + 30

2. Fill out the table below.

t f(t)

seconds meters

t'(t)

meters per second

0 35

30

60

75

80

75

60

35

N[N [N AW -

0

3. Graph function f below.
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A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

Calculus Class Worksheet #5a Unit 1

h = f(t) = -5t + 30t + 35.
1. Express the velocity of the ball as a function of t.

V =£'(t) =-10t + 30

2. Fill out the table below. 3.

t

seconds

f(t)

meters

t'(t)

meters per second

Graph function f below.

A h (meters)

0

35

60
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L A e
70
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.
V=1'(t)=-10t + 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) Ah (meters)
seconds meters meters per second %
0 35 30 20
- 1 60 70 —
2 75 60 X
3 80 5":7/ \
40 -
4 75 o X
5 60 20 \
6 35 10 ‘\
<€ >
7 0 M l1l21l3L4lsle6l71s
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.
V=1'(t)=-10t + 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) Ah (meters)
seconds meters meters per second %
0 35 30 20
- 1 60 20 70 —
2 75 60 X
3 80 5":7/ \
40 -
4 75 o X
5 60 20 \
6 35 10 ‘\
<€ >
7 0 M l1l21l3L4lsle6l71s

M _t (secon_ds)



Calculus Class Worksheet #5a Unit 1

A steel ball is propelled upward in such a way that its height, h,

In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.

V =£'(t) =-10t + 30

2. Fill out the table below.

t

seconds

f(t)

meters

t'(t)

meters per second

0

35

30

—}1

60

20

2

75

80

75

60

35
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0

3. Graph function f below.
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t

seconds

Calculus Class Worksheet #5a Unit 1

A steel ball is propelled upward in such a way that its height, h,

In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.
1. Express the velocity of the ball as a function of t.
V=1£f'(t)=-10t + 30

2. Fill out the table below.

f(t)

meters

t'(t)

meters per second

0

35

30

—}1

60

3. Graph function f below.
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.
V=1'(t)=-10t + 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) Ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 —
— 2 75 60 X
3 80 5":7/ \
40 -
4 75 o X
5 60 20 \
6 35 10 ‘\
<€ >
7 0 M l1l21l3L4lsle6l71s
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.
V=1'(t)=-10t + 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) Ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 —
— 2 75 10 60114 X
3 80 5":7/ \
40 -
4 75 o X
5 60 20 \
6 35 10 ‘\
<€ >
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.
V=1'(t)=-10t + 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) Ah (meters)
seconds meters meters per second %
0 35 30 %0
1 60 20 70 —
2 73 10 0 f 75 meters above the ground
50 :
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.
1. Express the velocity of the ball as a function of t.
V=1£f'(t)=-10t + 30
2. Fill out the table below.

3. Graph function f below.

t f(t) t'(t) Ah (meters)
seconds meters meters per second %
0 35 30 %0
1 60 20 70 Y. aEL
2 73 10 0 f 75 meters above the ground
3 S0 0 N o
4017 T moving up at 10 meters per second
4 75 20 \
5 60 20 \
6 35 10 ‘\
< >
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.
V=1'(t)=-10t + 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) Ah (meters)
seconds meters meters per second %
0 35 30 %0
1 60 20 70 —
2 75 10 60114 X
—> 3 30 51_/ \\
40 - \
4 75 20 \
5 60 20 \
6 35 10 ‘\
<€ >
7 0 M l1l21l3L4lsle6l71s
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.
V=1'(t)=-10t + 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) Ah (meters)
seconds meters meters per second %
0 35 30 %0
1 60 20 70 —
2 75 10 60114 X
— 3 80 0 5":7/ \
40' \
4 75 20 \
5 60 20 \
6 35 10 ‘\
<€ >
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A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

Calculus Class Worksheet #5a Unit 1

h = f(t) = -5t + 30t + 35.
1. Express the velocity of the ball as a function of t.
V=1'(t)=-10t + 30
2. Fill out the table below.

t f(t) £'(t)
seconds meters meters per second
0 35 30
1 60 20
2 75 10
—> 3 80 0
4 75
5 60
6 35
7 0

3. Graph function f below.
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.
V=1'(t)=-10t + 30

2. Fill out the table below. 3. Graph function f below.
t f(t f'(t
seconds me(tez's meters p(el? second % th (mete 80 p_leters above the gl’Olllld
0 35 30 “ /R
1 60 20 70 — lt : 1 s
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Calculus Class Worksheet #5a Unit 1

A steel ball is propelled upward in such a way that its height, h,

In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.
1. Express the velocity of the ball as a function of t.
V=1£f'(t)=-10t + 30
2. Fill out the table below.

3. Graph function f below.

t f(t f'(t
seconds me(tez's meters p(el? second % th (mete 80 p_leters above the gl’Olllld
0 35 30 “ /R
1 60 20 70 ~ ' :
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AA reached its highest point
-3 80 0 — \
40 1 \
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.
V=1'(t)=-10t + 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) Ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 —
2 75 10 60114 X
3 80 0 5":7/ \
40 -
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.
V=1'(t)=-10t + 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) Ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 —
2 75 10 60114 X
3 80 0 5":7/ \
40 -
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.
V=1'(t)=-10t + 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (metars)
seconds meters meters per second % 75 meters above the gl'Olllld
0 35 30 % LW
1 60 20 70 —
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Calculus Class Worksheet #5a Unit 1

A steel ball is propelled upward in such a way that its height, h,

In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.

V =f'(t) =-10t + 30
2. Fill out the table below. 3. Graph function f below.
t f(t) £'(t) Ah (metare)
seconds meters meters per second % 75 meters above the gl’Olllld
0 35 30 20
1 60 20 70 —
2 75 10 60T moving down at 10 meters per second
3 80 0 /? X
404
— 4 75 10 o X
\
5 60 20 \
6 35 10 ‘\
< >
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.
V=1'(t)=-10t + 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) Ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 —
2 75 10 60114 X
3 80 0 5":7/ \
40 -
4 75 10 o X
g 60 20 \\
6 35 10 ‘\
<€ >
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A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

Calculus Class Worksheet #5a Unit 1

h = f(t) = -5t + 30t + 35.
1. Express the velocity of the ball as a function of t.

V =£'(t) =-10t + 30

2. Fill out the table below.

t f(t) £'(t)
seconds meters meters per second
0 35 30
1 60 20
2 75 10
3 80 0
4 75 -10
— 5 60 20
6 35
7 0

3. Graph function f below.

A h (meters)

90

80

70

60

30

- X
7t \

20

\
\
A\
\

10

o X

v

11213141516l 718.
t (seconds)
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A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

Calculus Class Worksheet #5a Unit 1

h = f(t) = -5t + 30t + 35.
1. Express the velocity of the ball as a function of t.

V =£'(t) =-10t + 30

2. Fill out the table below.

t f(t) £'(t)
seconds meters meters per second
0 35 30
1 60 20
2 75 10
3 80 0
4 75 -10
— 5 60 20
6 35
7 0

3. Graph function f below.

A h (meters)
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60 meters above the ground
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.

1. Express the velocity of the ball as a function of t.

V =£'(t) =-10t + 30

2. Fill out the table below.

t f(t) £'(t)
seconds meters meters per second
0 35 30
1 60 20
2 75 10
3 80 0
4 75 -10
— 5 60 20
6 35
7 0

3. Graph function f below.

A h (meters)

90

80

60 meters above the ground

70
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Calculus Class Worksheet #5a Unit 1

A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

h = f(t) = -5t + 30t + 35.
1. Express the velocity of the ball as a function of t.

V =£'(t) =-10t + 30

2. Fill out the table below.

t f(t) £'(t)
seconds meters meters per second
0 35 30
1 60 20
2 75 10
3 80 0
4 75 -10
5 60 20
—> 6 35
7 0

3. Graph function f below.
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Calculus Class Worksheet #5a Unit 1

A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

h = f(t) = -5t + 30t + 35.
1. Express the velocity of the ball as a function of t.

V =£'(t) =-10t + 30

2. Fill out the table below.

t f(t) £'(t)
seconds meters meters per second
0 35 30
1 60 20
2 75 10
3 80 0
4 75 -10
5 60 20
—> 6 35 -30
7 0

3. Graph function f below.

A h (meters)
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Calculus Class Worksheet #5a Unit 1

A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

h = f(t) = -5t + 30t + 35.
1. Express the velocity of the ball as a function of t.

V =£'(t) =-10t + 30

2. Fill out the table below.

t f(t) £'(t)
seconds meters meters per second
0 35 30
1 60 20
2 75 10
3 80 0
4 75 -10
5 60 20
—> 6 35 -30
7 0

3. Graph function f below.

A h (meters)
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80

70

/V

60+ A

50T 35 meters above the ground
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20 \\

10 \

ha \
1121314l s516l71s8

v

>

_t (secon_ds)



A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

Calculus Class Worksheet #5a Unit 1

h = f(t) = -5t + 30t + 35.
1. Express the velocity of the ball as a function of t.
V=1'(t)=-10t + 30
2. Fill out the table below.

A h (meters)

3. Graph function f below.

/V

07 X

50T 35 meters above the ground
oy s\

30 A

204+ moving down at 30 meters per second

t f(t) £'(t)
seconds meters meters per second
0 35 30
1 60 20
2 75 10
3 80 0
4 75 -10
5 60 20
—> 6 35 30
7 0
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Calculus Class Worksheet #5a Unit 1

A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

h = f(t) = -5t + 30t + 35.
1. Express the velocity of the ball as a function of t.

V =£'(t) =-10t + 30

2. Fill out the table below.

t f(t) £'(t)
seconds meters meters per second

0 35 30

1 60 20

2 75 10

3 80 0

4 75 -10

5 60 20

6 35 -30

— 7 0

3. Graph function f below.
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Calculus Class Worksheet #5a Unit 1

A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

h = f(t) = -5t + 30t + 35.
1. Express the velocity of the ball as a function of t.

V=1'(t)=-10t + 30
2. Fill out the table below.

t f(t) £'(t)
seconds meters meters per second
0 35 30
1 60 20
2 75 10
3 80 0
4 75 -10
5 60 20
6 35 -30
— 7 0 -40

3. Graph function f below.
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Calculus Class Worksheet #5a Unit 1
A steel ball is propelled upward in such a way that its height, h,

In meters, above the ground after t seconds is given by the function

h = f(t) = -5t + 30t + 35.
1. Express the velocity of the ball as a function of t.

V=1'(t)=-10t + 30
2. Fill out the table below.

t f(t) £'(t)
seconds meters meters per second
0 35 30
1 60 20
2 75 10
3 80 0
4 75 -10
5 60 20
6 35 -30
— 7 0 -40

3. Graph function f below.
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Calculus Class Worksheet #5a Unit 1

A steel ball is propelled upward in such a way that its height, h,

In meters, above the ground after t seconds is given by the function
h = f(t) = -5t2 + 30t + 35.
1. Express the velocity of the ball as a function of t.
V=1£f'(t)=-10t + 30
2. Fill out the table below.

t f(t) £'(t)
seconds meters meters per second
0 35 30
1 60 20
2 75 10
3 80 0
4 75 -10
5 60 20
6 35 -30
— 7 0 -40

3. Graph function f below.

A h (meters)

90

80

70

/V

60 1

74

A

1 moving down at 40 meters per second
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Calculus Class Worksheet #5a Unit 1

A steel ball is propelled upward in such a way that its height, h,
In meters, above the ground after t seconds is given by the function

h = f(t) = -5t + 30t + 35.
1. Express the velocity of the ball as a function of t.

V=1'(t)=-10t + 30
2. Fill out the table below.

t f(t) £'(t)
seconds meters meters per second
0 35 30
1 60 20
2 75 10
3 80 0
4 75 -10
5 60 -20
6 35 -30
7 0 -40

3. Graph function f below.

A h (meters)

90

80

70

60

30

- X
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h = f(t) = -5t + 30t + 35.

Calculus Class Worksheet #5a Unit 1

2. Fill out the table below.

t f(t) £'(t)
seconds meters meters per second
0 35 30
1 60 20
2 75 10
3 80 0
4 75 -10
5 60 -20
6 35 -30
7 0 -40

V =£'(t)=-10t + 30

3. Graph function f below.

90
80
70 /
60+~ AN
n7e A\
40-
30 \\\
20 \
10 A\
- \ >

4 h (meters)

11213141516l 718.
t (seconds)
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Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 y.4
2 75 10 04 X
3 80 0 SE?/ \\
40
4 75 10 o X
\
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

4. How high above the ground is the ball after 2 seconds?

5. What is the velocity of the ball after 2 seconds?



Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 y.4
2 75 10 04 X
3 80 0 SE?/ \\
40
4 75 10 o X
\
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

4. How high above the ground is the ball after 2 seconds?

5. What is the velocity of the ball after 2 seconds?



Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 y.4
— 2 75 10 04 X
3 80 0 SE?/ \\
40
4 75 10 o X
\
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

4. How high above the ground is the ball after 2 seconds?

5. What is the velocity of the ball after 2 seconds?



Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 30
1 60 20 70 y.4
— 2 75 10 04 X
3 80 0 SE?/ \\
40 4 \
4 75 -10 0 \
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

4. How high above the ground is the ball after 2 seconds? 735 meters

5. What is the velocity of the ball after 2 seconds?



Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 30
1 60 20 70 y.4
— 2 75 10 04 X
3 80 0 SE?/ \\
40 4 \
4 75 -10 0 \
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

4. How high above the ground is the ball after 2 seconds? 735 meters

5. What is the velocity of the ball after 2 seconds?



Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 30
1 60 20 70 y.4
— 2 75 10 04 X
3 80 0 SE?/ \\
40 4 \
4 75 -10 0 \
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

4. How high above the ground is the ball after 2 seconds? 735 meters

5. What is the velocity of the ball after 2 seconds?



Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 30
1 60 20 70 y.4
— 2 75 10 04 X
3 80 0 SE?/ \\
40 4 \
4 75 -10 0 \
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

4. How high above the ground is the ball after 2 seconds? 735 meters

5. What is the velocity of the ball after 2 seconds? moving up at 10 mps.




Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 y.4
2 75 10 6014 X
3 80 0 2 \\
4 75 10 = X
30 \
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

4. How high above the ground is the ball after 2 seconds? 75 meters

5. What is the velocity of the ball after 2 seconds? moving up at 10 mps.




Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 y.4
2 75 10 04 X
3 80 0 SE?/ \\
40
4 75 10 o X
\
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

6. How high above the ground is the ball after S seconds?

7. What is the velocity of the ball after S seconds?



Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 y.4
2 75 10 04 X
3 80 0 SE?/ \\
40
4 75 10 o X
\
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

6. How high above the ground is the ball after S seconds?

7. What is the velocity of the ball after S seconds?



Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 y.4
2 75 10 04 X
3 80 0 SE?/ \\
40
4 75 10 o X
\
—> 5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

6. How high above the ground is the ball after S seconds?

7. What is the velocity of the ball after S seconds?



Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 30
1 60 20 70 y.4
2 75 10 04 X
3 80 0 SE?/ \\
40 4 \
4 75 -10 0 \
—> 5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

6. How high above the ground is the ball after S seconds? 60 meters

7. What is the velocity of the ball after S seconds?



Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 30
1 60 20 70 y.4
2 75 10 04 X
3 80 0 SE?/ \\
40 4 \
4 75 -10 0 \
—> 5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

6. How high above the ground is the ball after S seconds? 60 meters

7. What is the velocity of the ball after S seconds?



Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 30
1 60 20 70 y.4
2 75 10 04 X
3 80 0 SE?/ \\
40 4 \
4 75 -10 0 \
—> 5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

6. How high above the ground is the ball after S seconds? 60 meters

7. What is the velocity of the ball after S seconds?



Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 30
1 60 20 70 y.4
2 75 10 04 X
3 80 0 SE?/ \\
40 4 \
4 75 -10 0 \
—> 5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

6. How high above the ground is the ball after S seconds? 60 meters

7. What is the velocity of the ball after 5 seconds? moving down at 20 mps.




Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 y.4
2 75 10 6014 X
3 80 0 2 \\
4 75 10 = X
30 \
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

6. How high above the ground is the ball after S seconds? 60 meters

7. What is the velocity of the ball after 5 seconds? moving down at 20 mps.




Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 y.4
2 75 10 04 X
3 80 0 SE?/ \\
40
4 75 10 o X
\
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

8. What is the maximum height of the ball in its flight?



Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 y.4
2 75 10 6014 X
— 3 80 0 7 N\
40+ \
4 75 10 o X
\
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

8. What is the maximum height of the ball in its flight?



Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 y.4
2 75 10 6014 X
— 3 80 0 7 N\
40+ \
4 75 10 o X
\
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

8. What is the maximum height of the ball in its flight? 80 meters




Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 y.4
2 75 10 6014 X
— 3 80 0 7 N\
40+ \
4 75 10 o X
\
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

8. What is the maximum height of the ball in its flight? 80 meters

The maximum value of h = {(t) occurs whenv=1"'(t) =0 !!



Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 y.4
2 75 10 04 X
3 80 0 SE?/ \\
40
4 75 10 o X
\
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

9. How fast is the ball moving as it hits the ground?



Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 y.4
2 75 10 04 X
3 80 0 SE?/ \\
40
4 75 10 o X
\
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
- 7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

9. How fast is the ball moving as it hits the ground?



Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 y.4
2 75 10 04 X
3 80 0 SE?/ \\
40
4 75 10 o X
\
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
- 7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

9. How fast is the ball moving as it hits the ground?



Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 y.4
2 75 10 04 X
3 80 0 SE?/ \\
40
4 75 10 o X
\
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
- 7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

9. How fast is the ball moving as it hits the ground? 40 meters per second




Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 y.4
2 75 10 04 X
3 80 0 2 \\
40
4 75 10 o X
\
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
- 7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

9. How fast is the ball moving as it hits the ground? 40 meters per second

This is called the impact speed.



Calculus Class Worksheet #5a Unit 1
h = f(t) = -5t + 30t + 35. V=1f'(t)=-10t+ 30

2. Fill out the table below. 3. Graph function f below.
t f(t) t'(t) ah (meters)
seconds meters meters per second %
0 35 30 20
1 60 20 70 y.4
2 75 10 04 X
3 80 0 SE?/ \\
40
4 75 10 o X
\
5 60 -20 20 \\
6 35 230 10 ‘\
<« >
- 7 0 -40 g 1l2l3lalslelrls

t (secon_ds)

9. How fast is the ball moving as it hits the ground? 40 meters per second

This is called the impact speed. (Speed is never negative.)



h = f(t) = -5t + 30t + 35.

Calculus Class Worksheet #5a Unit 1

2. Fill out the table below.

t f(t) £'(t)
seconds meters meters per second
0 35 30
1 60 20
2 75 10
3 80 0
4 75 -10
5 60 -20
6 35 -30
7 0 -40

V =£'(t)=-10t + 30

3. Graph function f below.

90
80
70 /
60+~ AN
n7e A\
40-
30 \\\
20 \
10 A\
- \ >

4 h (meters)

11213141516l 718.
t (seconds)

v






